1.  Conglom Inc. sells Framazams for $1.00 each.  Their long run marginal cost (including capital) is 80 cents.  Conglom sells one million framazams per year.  The elasticity of demand for framazams is -1.2.  framazams are used to make widgets by Monopoly Inc.  Conglom is owned and operated by the Smith family without outside management.  Conglom recently hired the ex-secretary of Commerce to lobby for continued import quotas.

    a.  Is Conglom a monopolist over Framazams?  
    b. What share of the market do you think they have?  
    c.  What, if any, welfare losses result from market power in the widget industry?

2.  Maxim Inc. has a "secret"  specialized analogue to digital (AD) chip.  One other quite small seller (Qualitron) has managed to reverse engineer the chip.  Many other producers make various other types of AD chips though none exactly duplicates the Maxim function.  Maxim's production cost for making the chip is about 36 cents each.  They sell about one half of their chip output to various companies making flight data management systems (FDMS) used in commercial and military aircraft.  The other half of their chip output is used in making a computer mouse controller device that they make themselves.  


The derived demand for chips in the FDMSs about -1.2.  Maxim sells about three quarters of the chips used in FDMSs.  


The Maxim mouse device sells for 72 cents and it includes other parts costing Maxim about 30 cents.  Maxim sells about three quarters of this particular type of mouse controller device.

A.  Do you believe there is a "relevant economic market" for the Maxim AD chip used in either (or both) FDMSs or in mouse controller devices?  Explain carefully referencing what significance any of the provided facts played in your analysis.

B.  What would you predict about the market share of Qualitron in the sale of its chip for use in FDMSs versus mouse controller devices?

C.  Based on the provided facts why might Maxim elect to make the mouse controller devices but simply sell the chips to FDMS manufacturers? 

3.  Spirit Airlines is a low cost regional airline on the East Coast.  Spirit entered a route from Detroit to Philadelphia in 1998 offering two round trips a day on MD-80s (~100 seats).  North Western (NW) Airlines dominates this route with about 85% of the traffic pre-Spirit.  

    About half of the NW customers on the route are connecting passengers traveling through the Detroit hub from some where else to Philadelphia.  NW had a tiered fare structure in which about 60% of the Detroit-Philadelphia passengers paid the unrestricted “business” fare of about $400 round trip.  The other 40% paid a restricted fare of about $200.

    Spirit entered with an unrestricted one way fare of $49.  NW responded by matching this fare with some restrictions and offering an unrestricted fare of $89.  Spirit added a DC-10 with capacity of 300 to the route.  Within two months, Spirit pulled out of Detroit and the prices and schedules returned to the pre-entry conditions.  Spirit brought suit against NW for predatory pricing.

A.  What is economic predation?

B.  If pricing below cost is considered to be predatory pricing, how should NW’s price and cost be measured?  Specifically:


i.  how should the cost of the DC-10 be determined?

ii.  should some revenue allocation from connecting customers be included?

iii.  should revenue from business customers purchasing restricted fare tickets by included?

C.  What significance should be placed on the fact that NW only matched for some customers the Spirit price and did not price below Spirit for any customers?

